Industrial hydraulic valve | T i % E F ii®
[

-
Hanshang Hydraulic

=V/i= Rva:;lg-_ll-_!,-iﬁ Hﬂ/i I'rﬂ -_Il-_!,-ijz":‘ Hﬂ C FV/FRV4ME R~F FV/FRV Unit Dimensions

FV/FRV SERIES THROTTLE
VALVES/THROTTLE CHECK

M T T
i |
VALVES i
1]
1]
1]
o
Q
® =
S 2 SYMBOL i | ? "
a 53
@D
N B 7\% A ( / \
o
FVP B A \ / =
L1
L2
FV/FRVEYTS I 18/ 58 [5) 5 i 18 2 — i L 22 18 B2 T S A R it i FV/FRV; FVP/FRVP series throttle check valves are used to regulate the
BT RHERENREEFE, TEXAR, EX281ERE, speed of actuators simply and precisely.
N . L1 L2
C #HARS# Technical data ®#% Size D W x H H1 H2 H3
FV FRV FV FRV
Gi/8" M10X1 16X16 8 50 55 19 26 38 45
8 G1/4"  M14X15  33X28 12.5 69.5 76.5 325 40 63.5 63.5
&%= Size 6 8 10 12 16 20 25 30 10 G3/8"  M18X1.5  35X37 15 82 89 32.5 41 65 70
T {EEF1(Mpa) Operating pressure(Mpa) 35 35 85 35 35 35 35 35 12 G1/2" M22X1.5 35X37 175 84 94 a4 44 73 73
& (L/min) Flow rate(L/min) 16 24 35 45 60 100 150 210 . o BTG e s - e m = - -
#4) Inch Gi/8: || Gi/4r | Gasr || Gl || s GI" G114 Gi1/2" - o 5 Er— - - Iy o — - o
Al Metric M10x1 M14x15 Mi8x1.5 M22x1.5 M27x2 M33x2 M42x2 M48x2 - a2 e — - s = o - . e
S EMFRES Cracking pressure of check valve 0.05MPa 30 G11/2'  M48X2  73X73 35 140 157 54 91 108 143
ERERZZE Pipeline type panel connection M12 x 1.5 M18x 1.5 M18x 1.5 M22x 1.5 M22 x 1.5 M33x 1.5 M36 x 1.5 M36 x 1.5
FV 0.4 0.3 0.5 0.8 11 2.3 4.4 3.8
_ . FRV 0.4 0.3 0.5 0.8 1.1 23 4.4 5.3 C A D I RI RI
FEE(F3=) Weight(KGS)
FVP 0.25 0.7 1 il.2 25 43 8.3 11.2
L] L] L]
FRVP 0.26 0.7 1 1.4 2.7 47 8.8 122
— WWW.C&dlI’lI'l.COm.bI’
. VERY TE REEHE
Mk (#1H) REALE STEEL BODY SURFACE Color zinc plating f 1 . d « o e b
Valve body ( Material) P ormularios@cadiriri.com.br
Surface treatment FVP/FRVP
Steel Body Surface Black Oxide
NAS1638 92 #11S04406 20/18/154% ( 1 1 ) 2 60 ]_ - 2 8 3 9
7% BE/Ol cleanli
i POl il NAS1638 class 9 and ISO4406 class 20/18/15
Ningbo Hanshang Hydraulic Co.,Ltd. www.nshpv.com




Industrial hydraulic valve | T\ £ i@

(C FVP/FRVPZ3 R ~F/FVP/FRVP Installation dimensions

o T + 1=
= ! =
= l
o ' DI
«
c L4 L5
@ [
N T3 P
=} 2-2D2max _? B‘Tl A i
= T OO 3-=
| | |
-—0—-©&
L3 L2
L1
L
HJSModel D D1 D2 H HA1 L L1 L2 L3 L4 L5 B B1
FVP6/FRVP6 4-®11 4-06.6 5 7 20/24 415 19 / 6.4 1.6 16 415 28.5
FVP8/FRVP8 4-®11 4-06.6 8 7 25/26 63 35 / 14.2 4.5 285 46 33.5
FVP10/FRVP10 4-®11 4-06.6 10 7 28/32 70 33.5 / 18 4 255 51 38
FVP12/FRVP12 4-®11 4-®6.6 35X37 7 28/35 80 38 / 21 4 30 57.5 44.5
FVP16/FRVP16 6-®14 6-®9 45X50 7 54 104 76 38 14 11.4 54 70 54
FVP20/FRVP20 6-®14 6-®9 56X56 11 58.5 127 95 475 16 19 57 76.5 60
FVP25/FRVP25 6-®17 6-®11 63X63 13 68.5 165 120 60 15 20.6 ol5! 100 76
FVP30/FRVP30 6-®19 6-®13 73X73 18 79 186 143 715 15 23.8 95 115 92

lrv 0| « [ 1710 ] « | « ] x|

FV="5i i LE i Bt hini5t BA
FRV=2 [a) 377t & L 8 For further details
FVP=tR= T &L pr—
FRVP=4R5¢ & [ 5 7L 7o B2 = ol
FV=Throttle shut-off valve 0 CO;M‘C_ ;
FRV=Throttle check shut-off valve =Metric
FVP=Subplate type throttle shut-off valve Fo=T HEHR AL
FRVP= Subplate type throttle check shut- V=R
off valve No code=NBR seals
V=FPM |

1#7%:6,10,12,16,20,25,30,40 sela j
Size:6,10,12,16,20,25,30,40 Series n"fnfg:r
T =BARHE; S=EHRELE

No code=Threaded connection 1=$
S=Subplate mounting 1=Steel

Ningbo Hanshang Hydraulic Co.,Ltd.






